














Globalisation

§ 2. Apple is an American company. Give two examples of what Apple
Q makes. Write your answer.

\ 3. Why do you think that Apple is such a well-known company around
Q the world? Write your answer.

\ 4. Why do you think Apple, an American company, makes many of its
Q products in China? Write your answer.

What are containers?

Containers are large metal boxes used for trade. They are a
standard size: 2.43 m wide, 2.59 m high and either 6.06 m long
or 12.2 m long (there are two types).

Goods are transported around the world in containers, usually
on ships:

e Factories pack their products into containers;
e Containers are carried by lorries to ports;
e Cranes load containers onto ships;

e Ships carry the containers to
ports in other countries;

e Cranes take the containers off
the ships and put them onto
lorries;

e Lorries take the containers
to shops.




Globalisation

Containers and globalisation

Ships have always been important in trade, carrying products
from one country to another. Loading ships used to take a very
long time. People had to carry boxes and barrels onto the ships.
Everything was a different size. Then when the ship arrived at
its destination, it all had to be unloaded in the same way. The
introduction of containers has made loading and unloading
ships much faster. Containers have had a big impact on
globalisation.
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5. How have containers helped increase global trade?
Write your answer.

6. What is globalisation? Write your de nition.




How has technology changed
the way we communicate?

Quiz

1. Read the statements below. Tick ‘True’ or ‘False’ for each one.

a. Apple makes a lot of its products in China
because it is a Chinese company. True [ | False [ |

b. Apple is an American company but it makes
a lot of its products in China. True [ | False [ |

2. Some people think globalisation began when Christopher Columbus
sailed from Europe to which continent? Tick the correct answer.
a. Asia [] c. Australia []
b. the Americas [] d. Antarctica []

3. Match the sentence starters with their correct endings. Draw a line
between them.

Containers are large metal boxes at ports all around
that are a standard the world.

Lorries carry containers to ports size and shape.
and cranes load them

Because containers are all the onto ships.

same, it is quick and easy to load

and unload them

4. Which one of the following is the best de nition of globalisation?
Tick the correct answer.

a. Globalisation is when countries sell things to each other. []
b. Globalisation involves connections growing between

places across the planet. D
c. Globalisation is when one country loses all its industry. D

5. Give an example of a company or brand that is well known around
the world. Write your answer.
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Lesson 4

What are the costs of
fast fashion?

Quiz

1. Fill in the blanks to complete these sentences.

another buying taken
a. Trade is and selling goods or services.
b. Imports are goods or services that are brought into a country
from country.
c. Exports are goods or services that are out of a

country to another country.

2. Read the statements below. Tick ‘True’ or ‘False’ for each one.
a. There has been a massive increase in trade

between countries because of globalisation. True [ | False [ ]
b. Transnational corporations (TNCs) operate

in more than one country. True [ | False [ ]
c. TNCs tend to locate their factories in countries

where factory workers get high wages. True [ ]| False [ |

3. Which two of the following are advantages of globalisation for
TNCs? Tick the correct answers.

a. TNCs can reduce their costs by making their products in

poorer countries. []
b. TNCs can increase their pro ts by selling cheaply-made
products in richer countries. D

c. Tariffs reduce the amount of trade in some products
between countries. []

4. Which country exports more products than any other country in the
world? Write your answer.
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